Part Number: I-S-25-DT(E), I-S-25-S(E) & I-S-25-H

Description: Dual Tour Saddle, Solo Saddle & Hollywood Saddle C o r b’ n

Fitment: 2025 Indian Scout
Revision: 1

Tools Required Parts List
5mm Allen Wrench 1 Indian Extension Wiring Pigtail (2018+ Models)
1 #A01384 Front Seat Mounting Bracket
1 #A01382 Rear Seat Mounting Bracket
6 #SP00215 5/16" Flat Washer
2
4

#SP00973 m8 x 40 Allen Bolts
#SP00248 m8 x 16 Allen Bolts

1. Begin by removing your stock seat(s). Refer to
your owners manual if necessary.

2. Remove the rear mounting bolt, using a 5mm
Allen wrench (Figures 1 & 2).

3. Install the rear bracket and secure with the
5/16” flat washers and m8 x 16 Allen bolts, using
a 5mm Allen wrench (Figure 3).

NOTE: Slide the OEM connector out of the way
to gain access to the hole in the rear mounting
bracket (Figure 4).

4. Put the connector back in place.

5. Install the front bracket and secure with the
5/16" flat washers and m8 x 40 Allen bolts, using
a 5mm Allen wrench (Figure 5).

6. To install your new Corbin saddle, start by
sliding the two front tabs under the front mounting
bracket you just installed, making sure its pushed
all the way forward. Next lower the rear of the
seat and secure with the supplied 5/16” flat
washers and m8 x 16 Allen bolts (Figures 6 & 7).

HEATER INSTALLATION:

1. Pull out the small connector on the bike
(Figure 8). Connect the supplied pigtail (Figure 9)
into the OEM connector (Figure 10).




2. Tuck excess wires out of the way.

3. Plug the wiring pigtail on the Corbin saddle into
the wiring harness you just installed. Flip the
switch on the saddle. If the switch illuminates,
the saddle heater is working.

4. Proceed with saddle mounting as outline
above.

NOTE: The heater is controlled by the switch
along the side of the saddle. The temperature is
regulated by an internal thermostat when the
heater switch is turned on.

Enjoy your new saddle!

Questions? Give us a holler...

800-223-4332

tech@corbin.com




END w/ seat ;

SP00215 5M16 flat washer
. QrY (6 zing finish
S Pﬂﬂg?ﬂ 8m x 40m allen bult
IIi'.!T"I" 2 _zinc finish _ |
SP00248 | am x 16m allen bolt =
Qry (4 zinc finish |

ADT384 Mcsurting hratiit
i aTty (1 black finish

~
|LQTY (1 ___ black finish




